SARATRE FE 113 E ATER R TR
‘*ﬁ‘*“i*“#‘ﬁ‘ CESE BN
PRl BT F 2. 4P F

lipéﬁ+6ﬁ‘(gA3 L13& ~ A4 5 138) o

TR AEBEHRRTLIIEE
3*$ﬁ;ﬁ§gy50g,£{29’%1%Q’ﬁW2B%€E§$*%?ﬁ§’**
Fég\'\.’r‘! i N&El?g Fl% ?"J‘A:\ °

AR MEAY ENRERF S FR o B e F i 1 BEAAAGEF
5\‘4 S A
SAFMEES PR AR E A5 R
TREAPHRES Y BPUEELEF T Y > AT REAL > T I RFSSEY R
r:’l-i—:‘%ﬁxo
TAEERF 19044 o

== LGN

lLB®%- 440 ERZa T AELb- B 2h FRZLEEY o EFaLEgyl e ?
(A)2h/3 (B)h/3 (C)3h/4 (D)h/4

2.4 L BATE 0 F - OB HAEE ST £ B3 0=45°FF » sk i B 58 ft/sec
HRAMNBETAFERZ A @ ?

(A)5.9 1b (B) 6.9 Ib
(C) 7.9 1b (D) 8.9 Ib

3. det BT 2w K T 45 cm o+ Fl440kg ~ B 4"5‘_36 cm ; -] F14110 kg ~
P24 cm FEAE L KFR 0 FEBRL 4 HE R
(A) 8.5 ke (B) 9.5 kg o
(C) 10.5 kg (D) 11.5 kg N

-l.') cm

4, 4oL Bl #1 7 ,a};— £ RBLZ %ﬁ%iﬁv‘;’\g’] d;%-"g;éﬁﬁpf’rw ,g_i;]l%fgg P
; E'JP\?'in'&ﬁ'\i %&‘FE: %ZLEE’b ’ ;ﬁ}\ i® E] d «#"q:f%}i ,—»28 ’ Fé‘ 4}\/!7'5!{-1) % L R -
(A)1/4 (B)1/2 & (C)28 (D)4 | N

SArt BATT 2303 RAEFR > 2R Ee 2 RS 1 < i
AE v pd mposec k¥ LEPA FEPL R g dEd ®
w”éf’vﬁd"@”B/%@»i* %r“‘%fﬁ‘?

El

AN

PL3 PL
Pl PLE L
(A) 6EI - (B) 3Eé - = >
PL ,
© arﬁ" - D)™
6. 4ot Bl #7Tm » HFEY B4 EHRE S P ? A c
(A)4 B)S5
()6 D)7 > . L
F ]
mmr G H _11" pON
| D B

TR AETS kgweb 2 2 BE = 5 o A FHHF L RS S8300N 0 g59.8 m/s? s = %
Poae b A e R ET50kg o RIS pEFEF 2 BES 500
(A) 80.3 kgw (B) 84.7 kgw (C) 90.5 kgw (D) 98.1 kgw

LE*+ 8 2HP4% %17 >56F Gx-al = NP



8.4rt Bl 0 - ERGLZBAE P IE e
BHAEMoTE R v F T 4 2 B B R B L P 0 | B_

F_L
sl
pa
s
Ak
o
e
™
—
o
]

P213  My’L = MyPL? P213  My’L = MyPL? R v
(A) — 4+ 2=+ = (B) -+ =+ = .
6EL 2El ~ 2EI 3EI EIl ' EI =
P2L MoPL P2L MoPL
(C)—/— +—2— (D) — + =>— - .
6EI 2EI 3EI El

9. 4ct B o7 - F - & ARL2 353 f§ £ FAB - ARG
a=3/4Lsbe- P w4 EMo > 7 M4 EMo Al
* L2 g T A AR

(A)# 4 7 2 5§ B)¥F+ 5% .«
(C)i=# 5 % (D)4*4E7 @ i >

10. 4ot B #7772 BIEAE 2 2 Fhie o B e g it e P
Btk s 0 29 Wk B ECkZ FHRBH N L EBET 0 K
AWIE R 52500kg i i2AB2 2 82 £ § 2 [FinT
CEHREW2ZER LR D
(A) 1316 kg %
(B) 1366 kg
(C) 1416 kg
(D) 1466 kg

I 4e+ 7 0§ - REZ AL GREL P LB FER mm
B B4 2 R EB 5 0 9 _
(A) 1.55m (B) 2.54 m AW;?, ,gfr B
(C)3.46m (D) 4.45m [ e 1

12. 40+ Bl#rm » BREE AL B8 2El> § - 4 PiE* AR AFE Y BLBpF > 1"

FLRBELZ £E 2R P 7 YI
PL3 pPL3 PL3 PL3

(A) 22z B) 25 © e D) 2z B

13 et W7 5 - T2 4 ) T Ak e G R
(AW GiF B &7
By A REEg ] > B &7
OUECERES ¥ RN 1
(D)ﬂ%""ﬁ‘F’“i 5’—&@’]‘ v R4 @%C’

P

14, 4ot W97 2 i £ 3 0 B £ - 356 41000 Ib/ ft o gt priE & & H 1 l 1 l H l l
2ZEBV AT A LR FREH L6 ft o MR 2 Ere 5 BT
B a8ine F 510in @ RE 2T RS L7
(A) 30.2 psi (B) 44.6 psi (C) 56.3 psi (D) 60.4 psi

15, 4c L B #77r » - L6 Jg4 ~% K% g4 o, =120 MPa > g, = 28 MPa y
' Tyy =30MPa > R BT E5 P 7 S N
(A) 43 MPa
(B) 55 MPa X
(C) 86 MPa
(D) 110 MPa

-
Lot

-
-t}

L*+ 8 2K+ % 2F % 6F



16. 4o+ Bl #7771 2 4 F -+ » F£100 kg » 2 21000 mm » % - 4 I%M / \
% > T ARARE SFF > o S FFB R 5100 mm o FHR #5527 S 1000 mm | l/ M .
a'

@ﬁ’-l,ﬁ’{,}_ I/),"@;FTY'“F"#? \ z_’ [Imm
(A)0.4 (B) 0.6 \ -
(C) 0.75 (D) 0.8 |

17.4ct W7 > F - R R6mM > £ 332 KT RIS EAB Y 2345 42 ‘r‘c fT“E
Besh o Wz ¥2EDEF Aud 24k 2 £E M BCDLEFA 0 Yot
MBS E R S50cm o ¥7d 4 5 Sem? o X %k i E=20 x 10°N/m?
o3t LB e F 4 P=50KN > A REFEM B2 £ 4 P i @ ? v
(A)30kN (B) 45 kN
(C) S0 kN (D) 60 kN

18. 4% W #7 7 » AB#h/Z8 cm > BC* /28 cm ~ P 24 cmz 3 by e ST 05T T
T4 5700 kgfem? » BIF 5 d A 42 BT S P 9 i A TB T c

9

Tl

(A) 32920 kg-cm (B) 46890 kg-cm |l lE=
(C) 56415 kg-cm (D) 65940 kg-cm

19. % Bidrz Fufkd » @ F 22 d g o3 gl T
(A)P387 EimH (B A 316 & P 0 23
(Gl ) (D)4 7 X g ies

20. 4 B #7772 ABC® » AAZBF {24 AL dadsg - BCE &3 A » H 1
’?‘;%—FFBT}'IJfE-%Zé,’E!%m@ 4{,/}7\#@? i l ¢ l l

(A)(B) A/B\C HHlC

© A B c (D A B ’

\

21 i EAEHT MFHLA RS 5 B2 fid > Fpa MR L E A BRI EERS A6 A

J@ﬁ%& S
2 ff ARl <

-\gf

CARASRY

(A) pr/(2t) (B) pr/ (4) (C)pr/t D) p
22. 40t BlH0m 2 4B > £Q=101b 3R a4 Eerg o4 PE 502 A%

(A) 100 Ib (B) 200 1b

(C) 300 Ib (D) 400 Ib Q
23 drt BHrm 2 = 8350 ChA5e » B REXPhZ RHEL P ?

(A) bh?/ 36 (B) bh®/ 12 h Xt

(C)bh/2 (D) bh® / 36

24, - B2 5 120 mm2. Fldh 0 £ 424215000 N-miE* > EZRAF 4 2 B A G|+ 5 559
(A)22.1 N/ mm? (B) 25.5 N/ mm? (C) 44.2 N/ mm? (D) 50.9 N/ mm?
25 et WA 0 Hem (EBF G- BEr =l mA FEm=20kg2 23 E 0 B [T
f/{»&fﬁ—‘;’i’pﬁ* E‘&/)»p /ﬁ‘ﬁv ENTe P58 %2 > T2 5 2206 N> & 4 4vi@
Bg=98m/s" FK Fli .ui%c_@)‘;; 4559

(A)02m/s*> »F (B)0.5m/s’>» » T
(C)02m/s*» »+t (D)05Sm/s?» %+

L*+ 8 2HP4% %37 56F Gx-al = NP



26.

27.

28.

29.

30.

31.

32.

33.

et B 0 - BRFEMLBA S T LA RS
fd b FROANwHER F bkt
i B AE 0 G R OAY 4 B2 kT
(A) 2mw?(r2 —12)  (B) 2mw?(r? — 12)V/2
(C) 2mw?r, (D) 2maw?r

do BT 0 ABEBCI2 2 ® % 0 #4260 N o 2@ £ % 5% 4 Tag ~ Tees

C Iy
B LR ? AU
(A) 100N ~ 240N (B)130N ~ 312N 5% B =
(C)240N ~ 100 N (D)312N~ 130N 260N

dot B ATF 0 A~ B2CZ B % B W) 5520 x 100~ 360 x 10°2 \1’
80 x 10 > B3 At e RYny o @ 2

(A) 80 x 10°

(B) 100 x 10

(C) 180 x 10

(D) 260 x 10°°

et BT 0 24 fEF e - g 2T gE s R4 BF )
ESRLEAN
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Yot Bl#r7 o 5 2AB~CD395 3 <« Fl%a » ABC= #3595 &
o HP ABHE 22 L€ 220 mm > P H8E = 14 GPa » ik
D 4 4 £F 0 4otk 2 ABS 4 # 4 3L % (buckling) » 4+ £F
Bk TARE D
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